<
)
pid

)
[Pe]
T

5
. f 3
8 = = TS
3 M 1] M
.m. ] 2 |2
= = -
5 =) S =
: ¢ 2
s 2 >= = - — - m w
5 8 - 23 o] 5 Iz . ©
803 N 33 §E 3 2 |3 ¢
5 m o 2N ) P4 S| =
=9 2 z 9 =5 x8 | " . < 3
ne a . w O |G ] 7] x
g§s- 5 g5 ° sQ 5 & 8 o
283 pre} S5 Na g2 e g S -
- = g5 So AN = o
SEZ - Zs e £ & Q
5<% < S w NE | | ER > N
23% i oz ¢ 8 ©s 2 i N
s23 = 20 £5 3 2 N g ©
g 3 (o} oo N @ o EN ~ [ =2 |8
S e o= S 2 33| 23| |38 A
5 & o s = 3 m A Ta NENT [a)
8 5 -] -} Ny (o)
® & 2| |3 g2= & || £
g g a 5 $83 | 83| |E%¢ = Z
a8 = 00 .o |2 53 o m
<) a S [ . o N N 1h v 8
m = 5 [} ] -3 oL £L M ety 35 e W
g 0§ B3 £ 2% 5 PE EEEFE £ || o
a @ ] ) o < w el s s < £ s = "a.l W a
s 2 Z g z - gEEE 2 S
= e = g = g 13 a a x -
8 g 5 2 g £ 2 3 5 g @
z 3 5 g g g g & z 3
] o 2 = a @ N - -
L/%17 u vjpoizp Kowpib op siosfapq 062Gl 86‘t¥l 76 o - 96‘8¢ 06°ZS1 mr
5o 2 +
A AL DL BB8B5H96 YL | V6L (& N Y | 98'5T 06°ZSL
= y 5
=)
2|
©
00
A_n.
N
~ o
o
0
O V-A-
Q o
S 2
L il “o 06-65+ mcwi 908 |a 00‘0 06‘CS1 o |S.
Ny —
/Iadduauod.ﬁﬂdﬁuaﬂﬁ §
(=)
4 el
4[ _..mw_
0L/¥._4u_yoizp Kansb op sisfepo 06°ZGL L¥'0SL $¥‘T © - 76'eST 062Gl 0
Q =) %, +
U 0°) 1§ DMOUO]Sq DYUBIZPMS \9/ 06°CG1|S¥‘0SL| S¥'C [ M [2L°6%C 06°CSL
_ 0/ 0
o
o
i)
3
I
g,y puouctaq nwiazpMe | Lo am.uml_.vw.om— 19C L'gle UA 06°CS1
= L L N L B dl| 90°8 ez | S
M
e
i)
2|
L0 4 DMOUOJRq DAURIZPMS | oo\ |06°ZGLISL0GL| £L°T 82981 06°2SL
. t 0y} 160z ‘ww gy u Bbpopon | \ L/ Z1'0GL 6,81
N
~
~
M
ulgy i omouolaq pyueIzpmS | /< |06°ZGL|¥66YL| 96°C 9G'8y | 06°2SL
. | 1oz ‘wuwr gy u ‘Bbpopon [ \ L/ ¥6'6¥L L0'L¥L
M
N
N
(o}
Lo 1} DMOUORRG DYURIZPMS | o\ |0B°ZGL|E8BYL| LO'C £8°GZl 06°CGL
n bv') ‘160z ww gy 4 Bbpopon [ \ 2/ z8'671 £eYTl
M
N
o
N
Limgi) DMOUORRG DYURIZPMS | iy |0B°ZGL|ZL BYL| 8L'T ol‘col 06°CGL
- b, 160z ‘ww gy u ‘Gboopon [ \ 2/ 1LYl 09°101
M
N
o~
N
L_gd s pmouoleq DYURIZPMS | ¢\ |09°ZGL[09‘6YL| 00°C L£'08 09°ZSL
- Tl 1602 ‘ww gy u ‘Bboopow | \ &/ 656 L L8'8L
<+
[a]
~
N
w_gidubomouojaq DYURIZpS | e |G9°ZGLI LY BYL] 6L £1'eg G9°ZSL
- DY T 602 ‘ww gy y Gbpopon [ \ ) 9v'6YL £9°1G
M
~
o
o~
L_gi ) bmouojaq oquRIZpMS | e\ |0LCGL|SEBYL| SE'C 0¥ °‘0¢ 0,51
n Oy }Eoz ‘ww gy y Gbpopon [ \ ) ¥£'6vL 06'8C
N
N
o0
w 08’0 16pz| ‘ww oG Y “sppP PqDy L6V N | cggl
o
o
0
O V-A-
o
s dohpuolaq pyusizpms | /N [0L°ZSLILZ'6YL | B¥°C S 81T .OA 0L°CSL IM
T v L2 . ‘ - | > - . : ~
Lol Inkouojaq DUBIZPMS V®A 0L¢SLI0C6YL| 0S¢ |a ~ .| 000 | ™™ |0/gsL ol 2]
. \»J ) g 7
— Be a
— £ I~ c
. g < % £ £
=y S| E|E| S =
1S — N L =
= — W o m — a
=4 > c c c — o > m
o I © E=] — £ = I =
~ [0} o O — o [ .
s 5 c 0 2 | E g 5 L=
o +— hel c W) — O +— -
=3 [ ar D (e} [ .o
2 o o a g | a S |5 o g >
E| B S S Ky & [ 2| V| S g =
_ w_ m_ m_ w_ w_ 5 & & & g 5 2| 5 | & S s 2
doT oo lamhoo o oo ol ot al = o o N = [= o X o == 7]




